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' —cosP-cos(P—C)
tg—;—‘—’\/

cos(P— A) -cos(P—B)
o= a+b+c P=_.A+B+C
2 2 »
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a—b
. A+B 9573 '
sin = - X cos—
2 COS—C— 2
2
. a=b
sin = X cOS—
2 sinC- 2
2
cos(iié (
cos A;B = 2 X sing—
cos S 2
2
si atb
— n
cos AZ B = Z b4 sing /
sinS 2
2
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(9) PIsafRAX
A+B _ cos%(a—b)

C
tg -cot —
2 cos}f(a+b) 2 \
.1
A—B stn—z‘(a-—b) C
tg 7 cot -
sin_%(a+b) 2
>

1
tg a+b - COS?(.A—-B) . tg <
2 cos—;—(A+B) 2

; sin—]é*(A-B) /
4 = tg
2 sin—;-(A +B)
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A0) ZRA=Z/H GLA=90")
cosa==cosb- cosc=cotB-cotC
sinb=sina-sinB=tgc-cotC
sinc=sina- sinC=tgb-cotB
cosB=cosb-sinC=tgc-cota
cosC=cosc-sinB=tgb.cota

n 7R =ZA# (Ra=90")

180-A~_ Cos

_\ (/ b\ Cot/ / \\cot

9B WE  gin Sin

cos A= —cosB-cosC= —coth-cotc
sinB=sinA-sinb=1tgC-.cote
sinC=sind.sinc=tgB-cotb
cosb==cosB:sinc= —tgC-cotA
cosce=cosC-sinb= —tgB-cotA
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(1) ERRAEB=ZRHHRE
A. BQa, b, c =8, k4, B C=5K
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AT i
cos( )=sin(
= cot(

B,

cos( )=sin(

=cot(

Y:sin( )
)ecot( )

Yesin( )

)-cot( )




